September 17, 2019

e Gra'e 9 R
®\\‘7 War n Up @7@

Put the following fractions in order from least to greatest.@
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b) On December 17", the temperature was 2.1°C less than (colder than)
that of December 18™. What was the temperature on the 1717
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4) On December 18", the temperature in Miramichi was -21.6°C.
By noon the next day, the temperature increased by 3.7°C.

\KQ\ a) What was the temperature at noon on Dece
\ QLo+ 37+

b) On December 17", the temperature was 2.1°C less than (colder than)
that of December 18", What was the temperature on the 17"?
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Any Homework Questions?

p. 112 - 113
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have a ...

Same Denominators

his look similar td
adding Rational
umbers
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You try ...
(Remember to write all solution in simplest form)
2

D 5y 24 O o-25 16 D115
D) 13 13 44

-2 -l Tﬁ”

A [5

A 2~ [

-Di3 PN



September 17, 2019

Oh, what to do when the
denominators are different???

When denominators are different
you have to find a ""common
denominator"

By determining the LCM

Lowest Common Multiple

(of the denominators)
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Subtract the following rational numbers &{?‘I 3;
1 3 4‘ Look at the multiples of each denominator
— — — Find the LCM 3
‘f:b 3) vl
) Al

= ()

—_—

N

dss/nomework

Page 119

#6,730;”



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

